No. 1 —2 #5188 RE
—HRK AR DR AR —

1. FEJ19X10° Pa, {SE 156 ‘COKEEN A 10 kg & AFLD AR NDOIERFEZ KD &, KL A ORI ELT

0.189 kJ/ (kgK) TH 5,
mRT _ IOkgx0.189kJ/(kg3'K)><(273+15)K _ 0.0605m°
p 9x10°kPa

pvV =mRT Xbv V=

2. iR CO, D 2. 2g 13/ mol AR I,
CO,DFENEEM kg/kmol L
M =[CO,]=12+16x2 =44kg/kmol kv,

no M _22x107ke _ o o105 1imol = 0.05 mol

M 44kg/kmol

3. TN CH, TH Y, bk =1138THLHZ LN oTND, ZDL X, EEE
c, & TEFELLEN ¢, 22 3R D X,

MR =R, =8314J/(kmol-K) XLV, R=8314/44=189J/(kg-K)

¢ =K Rro L1138 1801550 /(ke - K) = 1.559 ki/(ke-K)

| 1.138-1

1 1
Cc, = R = x189 =1370J/(kg-K) =1.370kJ/(kg-K
K—1 1.138-1 (ke - ) (ke"K)

721, ¢, =c¢, -R=1.559-0.189 =1.370kJ/(kg - K)

4. KFE0.5m* DX o Z71ZJFE S 300 kPa, 1EE 280K DFEEN A > TWb, ZOBRFEOHEELRD L, £7-.
ZDWEFE % 360 K £ THNET 5 DIC BT 58 EZ RO L,
72720, [RURER R1E 259 J/ (kg 'K) . EREEEEL €,130.654 k]/ (kg - K) &5,

_ pV _ 300x10°Pax0.5m’
RT  259J/(kg-K)x 280K
Q,, =mc, (T, —T,) = 2.07kg x 0.654kJ/(kg-K) x (360 — 280)K = 108kJ

=2.07kg

5. HAHEM3 kg 23ES) 105 kPa, KRG 2. 2 m® DIRAED S . £ 17 400 kPa, {AFE 0. 6 m® OIRREIC AL L T-,
OB THE T RV T —ICBERN e ETIE, = 2L E—BEINIv < 5,

Rig1, 2o Z A —H, HZ
H =U,+pV, H,=U,+p,V,
AH =H, —-H, :(Uz _U1)+(p2V2 - p1V1)
= 0+ (400kPax 0.6m* —105kPa x 2.2m* ) = 9kJ



